			SEZ Restoration Acres				
			Adjacent to Urban				
Project Name	Document	Completed	Boundary	Non- urban	Within Urban Boundary	Unknown	
Osgood Swamp	1996 TEVAL	1980	Doundary	45.00	Doundary	Olikilowii	
Slaughterhouse Canyon	1996 TEVAL	1980		23			
Jennings Casino	1996 TEVAL	1981	20.00				
Griff Creek	1991 TEVAL	1984	20.00		2.00		
Saxon Creek Trail	1996 TEVAL	1984			2.00	1.80	
Tahoe Mountain	1996 TEVAL	1984				1.00	
Burke Creek Road	1996 TEVAL	1986	1.00			1.00	
Kingsbury Meadows	1991 TEVAL	1986	5.00				
Cookhouse Meadow	1996 TEVAL	1986	3.00	1.00			
Sawmill Pond	1991 TEVAL	1986		5.00			
Wildwood/Keller	1991 TEVAL	1986		5.00	10.00		
Onyx Street	1991 TEVAL	1986			0.52		
Tahoma	1996 TEVAL	1987			0.52	7.00	
Ouail Creek - Meadow	1991 IEVAL	1907				7.00	
	1006 TEVAL	1000	1 400				
and Lagoon Streets Santa Fe	1996 TEVAL 1996 TEVAL	1988 1988	4.00 5.00				
The state of the s			5.00		0.50		
Montgomery Estates	1991 TEVAL	1988 1988			0.50	15.00	
Upper Truckee River	1996 TEVAL	1988	1.00			15.00	
Lake Christopher 1	1996 TEVAL		1.00	1.00			
Zephyr Cove Meadow	1996 TEVAL	1989		1.00		0.25	
Chimney Rock Pioneer Trail	1991 TEVAL	1989				0.25	
	1991 TEVAL	1989				5.00	
Upper Truckee River	1991 TEVAL	1989 1990		1.00		4.00	
Kiva Beach	1996 TEVAL			1.00	0.50		
Sandy Beach	1996 TEVAL	1990	40.70		0.56		
Bijou Meadow	1991 TEVAL	1991	18.70				
Trout Creek Meadow	1996 TEVAL	1991	3.00				
Wolf Street	1991 TEVAL	1991	0.10				
Andria Street Park	1996 TEVAL	1991			5.00		
Ski Run 1	1991 TEVAL	1991			4.00		
Kahlua Park	1991 TEVAL	1991				1.00	
Ward Creek	1996 TEVAL	1991				1.00	
Regina Road	1996 TEVAL	1992			0.52		
redevelopment	1996 TEVAL	1992				0.75	
Tamarack	1996 TEVAL	1993			1.00		
Burke Creek	1996 TEVAL	1993				6.00	
Tahoe Valley	1996 TEVAL	1993				10.00	
Upper Truckee River	1996 TEVAL	1993				1.00	
Washoe Meadows	1996 TEVAL	1993				2.70	
Lake Christopher 2	1991 TEVAL	1994					
Griff Creek Dam	1996 TEVAL	1995	3.00				
Seneca Pond	1996 TEVAL	1995		1.00			
Arapahoe	2001 TEVAL	1996			0.50		

Angora Creek	2001 TEVAL	1997		10.00		
Lake Country Estates	2001 TEVAL	1997		10.00	1.50	
Second Creek SEZ					2,00	
Restoration	2006 TEVAL	1997			19.80	
Ski Run SEZ restoration						
project and grant						
augmentation	2006 TEVAL	1997			3.45	
3						
Embassy Vacation Resort	2001 TEVAL	1998			2.39	
Osgood Avenue	2001 TEVAL	1998			0.50	
Third Creek Village Blvd						
SEZ Restoration	2006 TEVAL	1998			2.34	
Wildwood (between Ski						
Run and Pine Grove)	2001 TEVAL	1998			1.00	
·						
Heavenly CWE Phase 2	2001 TEVAL	1999		5.77		
Incline Creek (Hyatt)	2001 TEVAL	1999			1.50	
Incline Creek Restoration						
and Deer Creek						
Diversion	2006 TEVAL	1999			0.75	
Rosewood Creek						
Restoration	2006 TEVAL	1999			1.43	
Snow Creek	2001 TEVAL	2000	6.00			
Heavenly CWE Phase 3	2001 TEVAL	2000		5.24		
Carnellian Bay Access						
Phases 2-3 / Carnellian						
Creek - Phase 3	2001 TEVAL	2000			12.00	
Snow Creek Wildlife						
Habitat Restoration	2001 TEVAL	2000				4.00
Tahoe City Urban						
Improvements	2001 TEVAL	2000			3	
Trout Creek - Pioneer to						
Black Bart	2001 TEVAL	2001	99.00			
South Y Industrial Tract						
SEZ Restoration Project	2006 TEVAL	2001			5.80	
Lonely Gulch	2006 TEVAL	2003	0.50			
Angora Creek Sewer Line						
Project	2006 TEVAL	2003		23.00		
Upper Truckee River -						
Lower West Side	2006 TEVAL	2003			12.00	
Lower Kingsbury Phase 2	2006 TEVAL	2004			0.32	

Rosewood Creek SEZ	2006 TEVAL	2004			1.43	
Cookhouse Meadow						
Restoration	2011 TEVAL	2005		20.00		
Twin Peaks SEZ	2022 121112	2005		20.00		
Restoration	2011 TEVAL	2005		2.00		
Christmas Valley SEZ	ZOII ILVAL	2003		2.00		
Restoration	2011 TEVAL	2005			2.50	
Blackwood - Phase 2	ZUII TEVAL	2003			2.50	
Barker Pass bridge						
replcamenet	2011 TEVAL	2006		4.00		
Various projects (NDCI)	2011 TEVAL	2000				12.00
Various projects (NDSL)	2011 TEVAL	2006				12.00
Angora Creek stream	2011 751111	2007				
restoration	2011 TEVAL	2007	4.00			
Rosewood Creek	2011 TEVAL	2008			2.00	
Blackwood - Phase 3a	2011 TEVAL	2009		40.00		
Forest Restoration III -	FID To 1	2000		0.00		
Nevada	EIP Tracker	2009		2.00		
Taylor/Tallac/Spring						
Creek - Tallac Creek						
Bridge and SEZ						
restoration	EIP Tracker	2009		2.00		
Third Creek Restoration						
Phase I	EIP Tracker	2009			1.00	
Erie Circle SEZ						
restoration	EIP Tracker	2009			0.25	
Ward Creek Road and		500.00	101 (012)			
Trail Sediment Reduction		2010	0.25			
Blackwood - Phase 3b	2011 TEVAL	2010		3.00		
Divers Cove	2011 TEVAL	2010		2.50		
Forest Restoration III -		people acres		000 00000		
Nevada	EIP Tracker	2010		2.00		
Angora Fisheries/SEZ						
Enhacement	2011 TEVAL	2010			0.50	
Lake Forest Meadow						
Restoration	EIP Tracker	2011	3.20			
Lake Forest Meadow Restoration	EIP Tracker	2014	1.14			
	ЕГР ТГАСКЕГ	2011	1.14			
Upper Truckee River -			40=00			
middle reaches 3/4 Forest Restoration III -	EIP Tracker	2011	127.00			
Nevada	EIP Tracker	2011		1.00		
Ivevada	cir fracker	2011		1.00		
Lower Blackwood Creek						
Restoration - Phase 1						
(including Eagle Rock)	EIP Tracker	2012	2.00			
Forest Restoration III -						
Nevada	EIP Tracker	2012		4.00		

Forest Restoration IV -						
Nevada	EIP Tracker	2012		2.00		
Forest Restoration IV -						
Nevada	EIP Tracker	2012		1.00		
High Meadows/Cold						
Creek Restoration	EIP Tracker	2012		100.00		
California Tahoe						
Conservancy Land						
Management Program	EIP Tracker	2012				0.60
Drainage and Stream						
Environment Zone						
Project Near the Stanford						
Rock Road Crossing	EIP Tracker	2013		0.10		
Fallen Leaf Campground						
BMP and Accessibility						
Retrofit Phase 2	EIP Tracker	2013		0.23		
Third Creek / Incline						
Creek Restoration -						
Phase IV	EIP Tracker	2013			1.05	
California Tahoe						
Conservancy Land						
Management Program	EIP Tracker	2013				0.50
Angora Fire: Gardner	en maener	20.0				0.00
Mountain Meadow						
Restoration	EIP Tracker	2014	10.00			
Snow Creek Wetlands	LIF Tracker	2014	10.00			
Restoration	EIP Tracker	2014	3.20			
High Meadows/Cold	LIFTIGUECE	2014	0.20			
Creek Restoration	EIP Tracker	2014		10.00		
Lake Forest Water	LIF ITACKET	2014		10.00		
Quality Improvements -						
Panorama	EIP Tracker	2014			1.12	
William Kent	LIF Hacker	2014			1.12	
Campground and Day						
Use BMP Retrofit - Phase						
2	EIP Tracker	2014			0.35	
California Tahoe	EIF ITACKET	2014			0.55	
Conservancy Land						
Management Program	EIP Tracker	2014				0.40
Washoe Meadows State	EIP ITACKET	2014				0.40
Park Watershed			l			
Improvement and			l			
Implementation	EID Tracker	204.4	l			0.40
Angora Creek Channel &	EIP Tracker	2014				0.10
Meadow Restoration	FID Tracker	2045	25.00			
weadow Restoration	EIP Tracker	2015	25.00			
North Capyon Crael: SEZ			l			
North Canyon Creek SEZ	EID T	22.5	l	~		
Restoration Project	EIP Tracker	2015		0.57		
Forestry - Snow Creek					46.55	
Aspen Restoration	EIP Tracker	2015			10.00	

TOTAL ALL SEZ RESTORATION ACRES			923.55			
TOTAL			367.09	367.41	113.93	75.12
Private Property	1991 TEVAL	unknown				0.70
Dunlap Street	1991 TEVAL	unknown			0.60	
Blackwood Canyon	1996 TEVAL	unknown		50.00		
California Tahoe Conservancy Land Management Program	EIP Tracker	2015	·	·	-	0.32
Sierra Tract Erosion Control Project Phase 4	EIP Tracker	2015			0.25	
Kings Beach Watershed Improvement Project	EIP Tracker	2015			0.50	